
 

Qtr Pn 1.04 Pm G

pzo.gr 200000
P2016 200720

200720 1.04 zooooo G

200720 200000 G
l 04

I 93000 20000 G

G 200000 197000

G s 7000

Pzon 1.044200720 7000

201468.8

Answer 201468 or 201469

Find
RQ 9 Internal angle ofS

regular penkson

Ext e 3560 72
p 080

Into
8,85

T



RPT 360 108 90 1620

I int of regular polygon 1620

ex E c 180 162 180

360 18
n

360 18
360 in

18 n E 20 Sides

10 2 3 6

Tx 2g I

x2 4 1 69 12

02 3 21 x Gg 3

25k 15

x 0.6

Sus in 4 0.6 Gg 12
2 4 t 6g 12

Gg 12 Z 4



6g 9 6

g 9 1.6

SC 0.6

y 1.6

2 3 6

Tx 2g I

x7 14 213 42

xz 14k 4g 2

25g 40

y 0 It L 6

Sub in
2x t 3 1.6 6

2x t 4 8 6

Zac 6 4 8

2x l Z

x o f
k o G

y l 6


